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Important Instrue! ions

1. This question booklet contains 100 questions nembered from 1 to 100 and each question

carries 1 mark. There is no negative marking.

2

Before answering the questions please read carefully the instructions printed on the back
cover page of the question booklet and strietly follows them.
3. After the exam, Candidates will.submit O.M.R. sheet to the Invigilator.

4. Use of any type of calculator, iobile or any other electronic equipment and log table etc.

is strictly prohibited.
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Part-1
PHYSICS

1. What should be the property of a fuse wire? 1.

(A) Low resistance and high melting
point

(B) High resistance and high melting
point

(C) High resistance and low melting
point

(D) Low resistance and low melting

point

!d

in fig. The resultant resistance between A

Five 1Q resistances are connected as shown 2.

HAT — 1

TS AR @ @1 O E AIRg?

(A) = gfoRm 3R 9= oA

(B) T=a ufoRrl 3R S e

(€) T ufaRm IR A= ToTa

(D) = uftke ik 9= oA

1879 @ e gty fErer o8 €1 A
"B @ 4919 qou URoR B —

and B will be -
A 0
2 MR * 1Q Q 11Q 1@ 19 H
A (A 1Q
® 10 CLBICK +rwer
(B) 20 = 20
D) 05> D) 0.5¢
3. Alternating current produced in India has 3. wRd # SR vamEdl gt & gty
frequency - g -
A) 4
(A) 48Hz : ‘ géﬁl
(B) SOHz ®) so0 &
(C) 60Hz (C) 60 m
(D) 100Hz (D) 100 &<
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4. Fleming’s left hand rule give us -

(A)

(B)

(©)

(D)

5. Two bulbs have tungsten filaments of same

length. If one of them gives 60 watts and the

direction of induced current.
force on current conductor in
magnetic field.

direction of magnetic field.

None of these

other gives 100 watts then -

(A) 100 watts bulb has thicker
filament.

(B) 60 watts bulb has thicker filament.

(C) Both bulbs filaments are of same
thickness.

(D) It is impossible to get different
wattage bulbs unless the lengths
are different.

6. Excess neutrons are absorbed by .........in

controlled nuclear fission.

(A)
(B)
(©)

(D)

Boron and calcium rods
Boron and cadmium rods
Calcium and cadmium rods

None of these
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B

A

4. wf @ anf g &1 Frm geRfa Eva

g -

(A)+ URa faga ar1 @1 faam

(B) g &F H GRMAE AAd W

(C)

Imfia ae |
Jaer & B fum|

(D) 379 9§ g TEl

5. 2 figE 99 ¥ emed @ fharie @ aR
T W9 € afe U ded 60 dic <l ©,

3R g 959 100 dfc qaT 8, A —
(AF 100 9fc & 9 &1 fPoric dR

(B)

(€)

(D)

6. v frafa witve s 4 snfdaa wggt

(A)
(B)
(©)
(D)

AreT 2|

60 dfc & dcd & fhapic dR
Hrer 8 |

g1 fhamic ari & A T e
2

W4 9% H dRI B g A
q 81, a1 = die ae arve 2 |

IR U4 dfeenm @) v ¢
IR U4 befiam @) ve
bfceram vd bty @) v
& A FIE TE

[ You
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7. Graphite and Heavy water is used as ........
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in nuclear reactor. - (. B TNE YA B B |
(A) Coolant (A) Hers
(B) Moderator ®) . F®
(C) Shield
e (C) RRerT
(D) Controller .
(D) s

8. The blue colour of sky is appeared due to —

(A)

(B)

(€)

(D)

9. The twinkling of stars is due to -

(A)

(B)

(©)

(D)

8. Waﬁrvﬁawwﬁ@ééﬁmw

q— |
refraction of light (A) WY FT JUIci
dispersion of light (B) 9T &I qui feigoy
diffraction of light (C) V&Y o7 fAgds
scattering of light
(D) WHTE HT FHIOH

reflection of light (A) FoTS T WRIECH

dispersion of light (B) W&t &1 avi faeigor

interference of light (C) WoIY &1 Aol
fraction of light :

relrac & (D) THTE BT gt

[201]
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10. A man with defective eyes cannot see 10. U wfd sl @qel il & 60 W @
objects at a distance of more than 60 cm e gy A€ @ W @ S gy
from his eyes. The power of lens to be used
will be - ST ) T A S F e E

e (A) -1.66D
(B) +6.0D (BY +6.0D
(C) -6.0D (©) -60D
(D) +1.66D (D) + 1.66D

11. Which of the following is not true for any 11. a%q @) fret +ff Refy @ fort STa Ty
position of an object, the image formed by g F I T gfafde 2q A A 9 Sl
convex mirror? me g q81 &7 :

(A) Virtual ‘ (A)‘ S *‘
(B) Erect J B) @ :
(C) Smaller in size P
(D) As far behind the mirror as the ©) i wior & P W j
object is infront .
yfafam wdor 9 e o7
12. The driver’s mirror used in automobile is— 12, siferiargs & =red g7 SUgRT fhar
ador g & —
(A) Convex (A) THa
(B) Concave (B) amgaa
(C) Plane (C) uwaw
(D) None of these D) T A FE 78

[201] Page 6 of 32 ;
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13. The relation between focal length f and 13, Tefta advr @ wraa g@ f gur awan

radius of curvature R of spherical mirror from R % 9w B1ar & -
15 -
(A) f=R
(A) f=R .
(B) 'f=2R
(B) =2R
€ et
(€) (R =
2
(D) ¢_R
lD} f= 5 f= 4
4
14. What is the refractive index of a medium in 14, 4fg #rezg & gaorer &) arer 2% 10 41 /4
which light travels with a speed of N e VSR .
2x10*m/s?
3
3 (A) 3
(A) 3
2
2 (B) 3
(B) 3
. 5
" 5 (C) =
) 3
2
(D) :
(D) -
15. Mirage formation is accounted by - 15. "fudT Ao &1 FRT B ar & —
(A) Refraction (A) 39qd=
(B) Reflection (B) WRadd
(C) Dispersion (C) ot faergor
(D) Total internal reflection D)-. T’T S ;
[201] Page 7 of 32
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16. The defect of vision which can not be 16, WG 35 T 2 ol o @ ITA ¥ I

corrected using spectacles is? T8 R o GFdl —
(A) Myopia A) F qﬁ?ﬁ‘ﬁ
(B) Presbyopia

(B) . Jfd=gwa
(C) Cataract .

(C) #iferarfds
(D) Hypermetropia

(D) < gfte <

17. The size of the pupil of the eye is adjusted 17. “Sifeg o Udell @ AR [GEd gN

by - JarIfoa far o &2
(A) Coonien (A) i
Cili s -
(B) Ciliary muscles B) Rl srf
(C) Optic nerve
i ©) g% afsra
(D) Iris
(D) - 3gRY

18. The specific resistance of manganin is 18. TR @1 fakre ufdkig 5 « 10 3 x
5x10® ohmxm. The resistance of cube of el HTE B so W oIl & 99 & a1

gl & dra ufeRwE g —

(A)  1x 10" 3w

manganin having length 50cm will be -

(A) 1x10% ohm

B) 25x10° 3
(B) 2.5x 107 ohm

(C) 1x10°30H
(C) 1x10°ohm '

(D) 5x10°amm
(D) 5x10% ohm

[201] Page 8 of 32
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19. Anelectric bulb marked 40W - 200V isused 19, T% dea forRT TR 40W — 200V aifdra £ | g

in a circuit of supply voltage 100V. Now its

power is consumed -

(A) 100w
(B) 40w
(C) 20w
(D) 10W

20. The focal length of spherical mirror is -

(A)  Maximum for red light
(B)  Maximum for blue light
(C) Maximum for white light
(D) Same for all lights

21. n - equal resistors are connected in series 21,

and then connected in parallel. The ratio of

maximum to minimum resistance will be -

100V ® Twrg ¥ el War 8, o &g

wfee gnfi —
(A) 100W:
(B) 40w
(C) 20W
(D) 10w

4

20. M YD By 30 Bxft ' -

(A) <l yorer & ford arfdreaw
(B) ety & ford afdrmas
(C) ¥ wobTy & ford arfdraay

(D) N ey B oy wHE

n — §A ufoRe Aot 5 A WAt @ ek
R werR #8 A wafor R o & &
b iR g afoRut @1 s
21T —

(A) n
o % (A) n
X (B) 2n.
= "; (C) n’
(D) n _
[201] Page 9 of 32
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22. Electric motor converts electric energy 22. fﬂqa e, ﬁqﬁ Fui #1 aRafda s

mnto - g_
(A) Wind Energy (A) Uad Fai §
(B) Mechanical Energy ®B) Rie: ot o
(C) Electrostatic Ener .
. (€) fer faem St 4

(D) Magnetic energy ,
(D) gESa FaAl A

23. Which element is the best conductors of 23. ®=a gzidl faed a1 &1 s FeTd 22

electricity?
(A) TReA H
(A) Tungsten
(B) e
(B) Iron
» C) =
(C) Silver )
(D)  Copper o R W

24. If the ammeter in the given circuit reads 2 24, IR Rga uRu # spfier &1 yga@ 2

Ampere. then the resistance R is - URRR 8, 9T R & §19 & —

|

3Q 30 ]

: |

62 A 68 3 }

L 4

&gy =@ i
(A) 1Q (A)" 1Q
(B) 20 (B) 2Q
(€C) 30 (C) 30
(D) 40 (D) 40

[201] Page 10 of 32
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25. Where should be an object be placed infront 25, ST o d WHA UH a6 P BBl @0
of a convex lens to get a real image of the e afed e awg & Ay, arafas
size of object? gfaferg 99?

(A) o & g BIHY W

(A) At the principal focus of lens

(B) At twice the focal length (B)- WId¥ it HI T W W

(C)  Atinfinity (C) I W

(D) Between the optical centre and (D) wHRE = IR g@ e B
principal focus a9

26. The least distance of distinct vision for a 26. U Ja1 @fda & ford wm=y gfte 2 we

young adult with normal vision is about - ?ﬂ% &) ~Tod o Exft @ -
(&) Hm (A) 25

) Ed B) 254

S = (C) 025,

@) 250m (D) 250 %

27. How much work is dofie-in moving a charge 27. 5 FeM & UG AWA &I 20 dlec &

of § C across two points having potential favarR 9 e W 9 {\'ﬁ WIF Th o
difference 20V? O H fa &Rl fear srn?
(A) 4 Joule (A) 4 v
(B) 25 Joule (B) 25 S[d
.(CJ 50 Joule (C) 50 S
(D) 100 Joule (D) 100 S
fz_[f]] Page 11 of 32
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28. A current through a horizontal power line 28. T& &fo Wy agH # fAgd ¥RT ST i

flows North to South direction. What is the

R @ ok 98 8 21 39D I A

direction of magnetic field at the point

directly below it? il Sl
(A) East to West (A) T 9 ufem
(B) West to East (B). uf¥gw & gd
(C) South to North (C) = 9§ o
(D) North to South @) SIR A gy

29. Atthe time of short circuit, the current in the 29, ciguer & &7a, uRuy ¥ fag arr —

circuit -

(A) reduces substantially. (A) IAEE Tt |

(B)  does not change. (B) uRafda =&t &

(C) increase heavily. (C) - Iufde qad 2 .

(D) vary continuously. (D) waq gRafdq 2t 2| !

30. The focal length of a concave lens is 20 cm.  30. U J@dc ¥ &) Bl g8 20 I, 2

It power will be — ! ufed el —
(A) -50D (A) -50D
(B) +50D B) +50D-
(© +20D (C) +20D"
(D) -20D (D) -20D
[201] Page 12 of 32

PDF @ApniStudy.in



www.Apnistudy.in

Part - 2 HT — 2
CHEMISTRY A A
31. Law of Triads was proposed by — 31. 3% & fram e grr wafda R
T >r?
(A) Newland (A) e
(B) Gay Lussac (B) ﬂﬂ'ﬂﬁﬁ
(C) Mendeleev (C) #eelw
(D)  Dobereiner (D) ZRRIER
32. The valency of inert gases is — 32. 3ifha 9 &) FaroThar Bt & —
(A) 0 (A) O
B) |1 (B) !
€ 3 © 3
D) 2 o 2
33. Metals can be hammered into thin sheets. 33, €T3l &I Udell TIEX & ®U A [T o
This property is called — el B, T8 VT R & —
(A) Density (A) T
(B) Malleability (B) e
(C) Ductility (C) =
(D) Strength D) f

34. Which of the following reactions involves 34, 379 9 f&w afdfehar & <) gt &1 waoE

the combination of two elements? 2Idr 27
(A) CaO +CO; — CaCOs (4) CaO +CO; — CaCOs
(B) 4Na+ 0> — 2Na;0 (B) 4Na+ 0; — 2Na,O
(©) 50, + 30, 505 ©) 50, + 20,50,
(D) NH3; + HCZ - NH,C¢ (D) NH3; + HC® — NH,C¢
[201] Page 13 of 32

PDF @ApniStudy.in



35. The electronic configuration of C#~ ion is—
(A) 2,8,7
(B) 2.8,8
©) 2,8
M) 2,8,1
36. Which of the following is used as a catalyst
in Haber’s process?
(A) Iron
(B) Platinum

(C) Vanadium

(D) Copper

37. The colour of precipitate of lead nitrate is—
(A) Green
(B) White
(C) Yellow

(D) Brown

 38. Which of the following is not a strong
acid?
(A) HC¢
(B) CH;COOH
(C) HNOs

(D) H2SO4

www.Apnistudy.in

35. Ce 3T &1 gadgie fa=arg @1 872

(A) 2,8,7
(B) 2,88
(€) 2.8
) 2.81
3. 49 F @ @@ e yfbar § SRS P

(g%

2

Hifd IganT § S S 87
(A) 3w

(B) wifZaq

(C) FfEam

(D) @R

37. oS AlgSe © A8 BT FAT AT e 22

(A) =1
(B): §%g
(C) drem

(D)
38. = # ¥ BI9T ydd 3R q8l 87

(A) HC?
(B), CH:COOH
(C) HNO;

(D) HSOq4

|

B T L

[201]
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39.  Milk of magnesia is an — 39. fiew aife Hfiem & -

(A)  Acid (A) ar%d

(B)  Antacid (B) .veifls

(©)  Alkali ©) &R

(D)  Rock Salt (D) /I THE

40. Which of the following is Glauber's salt? 40, = # & S\ Tehay srqur 82

(A)  Na:CO;3 10H,0 (A)  NaxCO;.10H.0
(B) NSO, 10H-0 (B) NaSO.10H20
(C) CuSO45H:0 (C) CuS04.5H>0
(D) MgS04.7H,0 (D) MgS04.7H.0

41. Which of the following is known as soda 41, =1 & 9 fF) Wil yrger & 9 @ 547

ash? ST &
(A) Baking Soda (A) 3T Hre
(B) Washing Soda (B) e &1 WS
(C) Plaster of Paris (C) IReR 3w Uy
(D) Bleaching Powder D) T‘Eﬂﬁ"T raex
42. Noble metals can be dissolved in - 42. T ugalt (Spe urg) e ga
(A) Conc HNO: i
(A) ¥ HNO3
(B) Conc HCS
(B) wI= HCY
(C) Conc H2504
. C) 9<% H.SO.
(D) Aqua-regia : 4
(D)  vEEr-ferEm

[201] Page 15 of 32
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43. The suffix used for naming an aldehyde
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is —

43.

———

7t S qedtETEs @ AW forad W !
SUART & A o 8 -

(A) ol (A) 3ife
(B) al (B)
(C) one
(C) ¥
(D) ene
(D) A
44. TUPAC name of - 44. IUPAC 79 & -
CH,- CH -CH,-CH=CH, CH,~ CH -CH, -CH=CH,
CH, CH,
(A) 2 - methyl pentene (A4 2 — Tharega o=
(B) 4 - methyl pent — | —ene B) 4-fEade-—1-39
(C) 1 - hexane © 1- =i
(D) 2 - methyl —pent — | —ene D) 2 - Mo — T — 1 — 29
45. A dilute solution of ethanoic acid in water ~ 45, 3UFIEH 3 &1 T & WY 79 oA
is called - PHEATT & —
(A) Fehling’s reagent (A) wefer e
(B) Vinegar (B) frr J
(C) Acetone C) e
(D) Tollens" reagent D) rerw e
46. Which of the following is an unsaturated 46, f=ifoifad # & @ HETT EBEIBTEA
hydrocarbon? 2?
0 o0
(A) CH,-C-OH (A) CH, - C-OH
(B) CH;-0O-CHs (B) CH:-0-CH;
(C) CsHe (C) CsHe
(D) CsHs (D) CsHg
[201] Page 16 of 32
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47. What are the reagents required to convert  47. ®F @ Afv@ds wefie TepEd B

a primary alcohol into carboxylic acid? Praffeaferd 3l § dgeld 87

(A)  ALOjat 620 K (A) ALOjat 620K

(B) KMnO, and NaOH (B) KMnO4 @ NaOH

(C) Red P and HI (C) RedP@HI

(D) 3mIfTTEHd AgNO:

48. The general formula to represent alkyne 48, Yol &1 UM G & —

18 -

(D)  Ammoniacal AgNO;

(A) CiHzn (A) CnHZn
(B] CnHln +2 (B) Cann +2
(C) CnHQn -2 (Cl ("HHQH -2
(D) CnHzn +1 ‘ (D} CnHZn +1
49. Compounds having same molecular 49. AfH 1 Mfad A F9H W]
formula but different structural formula HRgaTHs §F A 8ld 8, dEdrd 8 —
are called -
(A) Isotopes (A) STEHICH™
(B) Homologus (B) EWEnTE
(C) Isomers (C) 3mgErR
(D) Isobars _ (D) AR
50. The substance obtained by the dehydration ~ 50. W& WeRIR® apa &1 IuRARY & A-Ta
of ethanol in the presence of concentrated @ Frcieliewor | 99a1 & -
sulphuric acid 1s -
(A) Ethanoic acid (A) 2D I
(B) Ethanol (B) A
(C) Ester (C) T&X
(D) Ethene (D) ¥
[201] Page 17 of 32
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§1. Element having 7 electrons in the valence  51. Pt § @ e dcdl @ daNIbAr b §

shell are called - 7 gdeH 87
(A) Halogen (A) o
(B) Chalcogens (B) <
(C) Alkal metals
(C) &y urg
(D) Alkaline earth metals
(D)o &y uifda o |

52. Elements of which groups forms anions 52, = %% @199 g @& da dufl 9

most readily- HOMIA q4rd 27

(A) Oxygen family (A) oo B
(B) Nitrogen family (B) 3RS B
(C) Halogens (C) 2elioHA

(D) Alkali metals (D) &8 gy

53. Which of the following properties of the 53 F=ffad 4 & #F@ 7 a= x o

atoms of an element X and its ions X** SUd W X § wHE B j
must be same? (A) IFR i
(A) Size B) ¥
(B) Colour (C) WRHT ¥R
(C) Nuclear Charge - - E
(D) Ionization energy ;

[201] ; Page 18 of 32
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54. Which of the following is a metalloid?

54. f=1 # 9 BI IuETg 87
(A) Tin A) fes
B % .
(B) Germanium B) ot
C) Sili
(C) Silicon (C)n fHferdt=
(D) Carbon
(D) @rdA
55. The correct order of atomic size of Na, Be, 55. Na, Be 3R Mg & WHIfda® AR B
and Mg is - el FH & —
(A) Be>Mg>Na (A) Be>Mg>Na
(B) Na>Mg> Be (B) , Na>Mg>Be
(C) Mg>Na>Be (C) Mg>Na>Be
(D) Mg>Be>Na (D) Mg>Be>Na
56. Among the halogen, the lowest 56. Ecilo H Waw W fIga FomcHSHA
electronegativity is for - faar gt 27
(A) F (A) F
(B) Cr (B) cr
© 1 (€) 1
(D) Br (D) Br
57. The metal which can replace calcium from 57, ©Tq S dfeergq &1 g9 aavr ¥ fawenfua
its salt is? R A B -
(A) A/ (A) A/
(B) Zn (B) «Zn
(C) Fe (C) Fe
D) K (D) K
[201] Page 19 of 32
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58. Which of the following compound is used 58, =1 % & @ Afd arar wed 4
as a flux in Blast Furnace for extraction of Yolad @) oNE AR @ spa b ford
s SYART § o A &2
(A) CaO A) Ci0
il (B) CaSO
(C) MgO (© Mg
(D) NaxCOs D). NaO;
59. Stainless steel is an alloy of - 59.( ¥Terd W sy g @ -
(A) Fe,Cr,C,Ni T T B
(B) Fe, Ni,Cr (B) Fe,Ni,Cr
(C) Cu, A/ Ll
(D) Fe, A, Ni |
(D)  Fe, A/, Ni
60. 22 Carat gold is 2 mixture of - 60. 22 YT oS g fAsor & —
(A) AuandCu (A) Au 3R Cu
(B) Znand Au By Zn 3R Au
©) AtandAu (©  Af #R Au s
@) Mgandis (D) Mg 3R Au 1
[201] Page 20 of 32
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Part. 3 HT — 3
BIOLOGY wha fasm

61. If stomach does not produce HC/ which 61. ®Iel Guirgd F T P T IR

enzyme will not function? ZRT HCf 9= T8 grm?
(A) Ptyalin (A) <A
(B) Trypsin @) ffe
(C) Pepsin () W
(D) Amylase D) TEE

62. Which part of the Nephrons is permeable to 62. %15 @ Hwl ¥ Wi & ford §a8 &
water? IR BT 87

(A) Proximal tubule (A) wHORl AfaaT

(B) Descending limb of loop of '
(B) & U FT FERE U

Henle

(C) ‘ Ascending limb of loop of Henle (C) T T &1 JIRE °rey

(D) Collecting duct D) -

63. Mendel's second Law is also known as the 63. Jusa & fedm w10 Fw

ST 2|
Law of -

(A) - WO UYEd &I fm
(A) Independent assortment

(B) mm‘ﬁw
(C) wfdar & o -

(B) Segregation

(C) Dominance
(D) e ywiRa &1 fAam

(D) Co-dominance

[201] Page 21 of 32
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~
64. Double fertilization is the characteristics of - 64. & f¥== @1 fagwre® 0 8-
(A) Angiosperms (A) qﬁ‘u‘ﬂhﬂ'ﬁﬂ
(B) Algae ® 3
(C) Gymnosperms i :
(D) Bryophytes
(D) dATPIZCH
65. 1f you chew on a piece of bread long enough, 65. & ¥y & ! & gl TqH @ 41
it begins taste sweet because - #rer et &, aaife —
(A) Maltose is formed by maltase (A} HIeeI—HIee & gRT 11 AT
(B) Fatty acids is formed by lipase g
(C) Disaccharides are formed by'the (B) T S AL EN T
e " S 2|
reakin own of starch b
. g (C) ¥rd THTge IR ofs far S
amylase. '? ol SrzdeNESw § gee W
(D) Glucose is  formed  from g
disaccharides. (D) SHONITEH 3 TP a7l 2 |
66. Formation of Pyruvate from glucose takes 66. T[@I9 ¥ URTGdC &1 famfvr gar 2
place in-
(A) =AM §
(A) Muscles
(B) ¥T H
(B) Grana
(C) Mitochondria ©  pi 3 -
(D) Cytoplasm (D) @R oy ¥
[201] ' Page 22 of 32
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67. The carbohydrates synthesized in leaves are 67. afrdl § @ weefda FABESCH g
transported through sieve tubes in the form e W 3 . o

of -

(A) Glucose Arer 87

(B)  Triose sugar ' (A) W

(C) Sucrose B) TEN TR

(D) Starch (C) W

(D) e
68. In the figure given alongside. the parts 68. =d foT 719 fomr 4 faffea fsa 7 s

marked A. B and C are sequentially- @] HEI: AUB, C ¥ Ia133-

B A B ‘A

& [ o

(A) Cotyledon. plumule and radicle (A) droua, UTgR IR HerdR

(B) WIHR, HATHR 3R dI5ux
(C)  UigR, T 3R eAaR
(D) FelidR, 959 AR YidgHR

(B) Plumule. radicle and cotyledon
(C) Plumule. cotyledon and radicle
(D) Radicle. cotyledon and plumule

69. If the ratio of each phenotype of the seeds of 69, #ex UGy & 91 & F, N1 # & FHERy

peaplantsinlhnggcneralioniw():3:3:l, B ST IR 9353 1 2 Al 39 FEd
it is known as — 5
(A) Law of dominance " -
brid cro: ‘ ! Fram
(B) Monohybrid cross . -
(C) Dihybrid cross '!!!5!
} ’ (C) fgus By

(D) Tetrahybrid cross

(D) AgFEDR P
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70. The flow of energy in a ecosystem is always- 70

(A) Unidirectional
(B) Bidirectional
(C) Cyclic

(D) Multidirectional

71. In adult man normal B.P. is - 7l

(A) 100/80 mm Hg

(B) 120/80 mm Hg

(C) 80/120 mm Hg

(D) 80/100 mm Hg

72.  Which one is an accessory excretory organ? 72

(A) Liver

(B) Stomach

(C) Testis

(D) Heart

g_
(A) usfedfa .

B) fefedha
(C) TH[

(D) gl

U gu%h ICHI BT WHIRI BP 8-

(A) 100/80 mm Hg

(B) 120/80 mm Hg*

(C) 80/120 mm Hg

(D) 80/100 mm He

(A) R
(B) 2mrerg

(C) g
(D) ®gF
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. TRRfIE a3 & Sull &1 WaiE A v

. T ¥ DT GRS Ioqur T 27

73. One of the following part occurs in the 73, @ fau wu # & @@ afr qufiy ey
Ud 90 & W = 1§ U o 27

reproductive system of flowering plants as

well as that of humans. This is- (A) a1 few
(A) Vas deferens
(B) WETHIY
(B) Anther
(C) - dvgre
(C) Ovary
(D) afdfem
(D) Stigma
[201] Page 24 of 32
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7. ldea of evolution of species by natural 74, s w R entad @ fawTE &

selection is given by -
(A)  Mendel
(B)  Lamarck

(C) Darwin

(D) August Weismann

75. Plant hormone that control cell divisionis -  75.

(A) Auxin
(B) Gibberellin

(C) Cytokinin

(D) ABA hormone

76. Villi are the site for-

(A) Digestion
(B) Excretion
(C) Absorptiorn

(D) Assimilation

77. The elements of xylem that help in ascent of 77.

sap is -
(A) Sieve tubes
(B) Vessels
(C) Tracheids

(D) Fibres

76.

frar fras g fear T
(A) #USA

(B) e *

(€) i

(D) ST Ao

ey EEE S E@ N e Fafea

Hl B
(A) 3

@) e
(C) TgeIaTEiF
(D) ABA ®HH

3R I8 SITE B SIel UX Bl 8 |

©(A) e

(B) SdoH
(C) gy
(D) @S

T & T Wl @ gaa ad (@) @
QS ¥ A% Bl o
(A) Fer wferet

(B) arf@er
(C) arfefem
(D) g

[201]
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78.  Which one is not a part of Lymph? © 78, T @ B O ARG B AT TE &
(A) Lymphocytes (A) fommrarge
(B) Proteins (B) WM
(C) Erythrocytes () tRege
(D) Digested food (D) TR W

79. The endocrine glands whose malfunctioning  79. P arg S 0 B wWwd 8 9H W

causes diabetes is? qgWE & el 87
(A) Pituitary (A) Toeged,
(B) Pineal (B) ", e
(C) Parathyroid 5

yre (C) tRrTERigs
(D) Pancreas
(D) 39

80. The sexually transmitted disease which is 80. 379 ¥ ®IH@ I 9 waRkd dafRar

caused by bacteria 1s? ERT &ar 27
(A) Malaria (A) waIfRa
(B) Diarrhea (B) =
(C) Gonorrhoea (©) MR
D) AIDS
= (D) TsH.
81. Chlorophyll contains - 81. FARIfha & g 8-

M 5 (A) Fe
(B) M

’ (B) Mg
(C) Mn
D) K (C) Mn

(D) K -
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82.  Chlorophyll -a is a found in - 82. FARIbeT -a UTAT AT B
(A) Al O:releasing photosynthetic (A) 0BT aTd Wit wHTer el
forms | war A
(B)  Only higher plants (B) @dd I=d urgdl # |

(C) Higher plant : ¢
gher plants that ©) v A ) e

gl
(D) Wit y@re wved ghRaed §
83. The site for dark reaction of photosynthesis 83, W@TeT |0l 3 Jwebrel AMfHAT BNl 8-

photosynthesize

(D) All photosynthetic Eukaryotes

s -

(A) T H
(A) Stroma
(B) U9 H
(B) Grana
(C) wrgeisii=gar *

(C) Mitochondria
(D) UEADES B AT A

(D) Lumen of thylakoid

84. Bacteria mainly reproduce by- 84. AT YEIG: YT NG -
(A) Fission (A) e gr
(B) Budding (B) H&oH gRT T
(C) Fragmentation (C) "QvsH gwI
(D) Endospore formation (D) 3 AT gRI
85. The Heart of healthy man beats normally per 85, U W @Ifdd &1 gy s fAfye
minute- AHE: fhas e $ear 27
(A) 60 to 70 times (A) 60 70 9
(B) 70 to 75 times (B) 709 75 ax *

(C) 80 ¥ 90 IR

(C) 80 to 90 times
(D) 85 ¥ 95 AR

(D) 851095 times
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86. Which of the following group of animals has
closed circulatory system?
(A) Earthworm, Frog, Human
(B) Human, Frog, Cockroach
(C)  Unio; Human, Mosquito
(D) Earthworm, Frog, Cockroach

87. Malpighian corpuscles is-
(A) Bowman's capsule + Afferent
arteriole
(B) Bowman's capsule + Efferent
arteriole
(C) Bowman's capsule + Glomerulus
(D) Afferent arteriole + Glomerulus

+ Efferent arteriole

www.Apnistudy.in

86. frt ¥ ¥ fw g g A 49 RET
A &7
(A) Fgan, Had, A,
(B) §Ha, ¥ed, fadacer
(C) v, AT, Feov
(D) g, 4ed, feracer

87. el HfrET 8-
(A ar we + e e
(B) qm= wWe + JUATEl gD
(€) gt wwge + Temver
@ fyardr emfdr + EEveE +

IaTEl eHADET |

88. Which of the following structure is not an 88. Frfofed # & #fl ¥ o WS

accessory duct of male?

(A) Seminiferous tubules
(B) Vas deferens
(C) Epididymis

(D) Reie testis

AfereT T8 87
(A) g% T Aferdr

(B) IH difeH
(©€) g
D) Y TRIFTG

89. Which component of blood makes up most 89. & &I AT I& & ford Yqd P DY

of the blood’s volume?
(A) Red blood cells
(B) Plasma
(C) Blood Proteins
(D) White blood cells

UTH P HIW 1G] AT By 7
A) e B
(B)'tawm

(C) & W=

(D) 9T Y FiRE
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90. Photosynthetic organelle chloroplast are 90, ¥/ W¥IRa ITd Efdeas SR

91.

92.

93.

abundantly found -

(A)
(B)
(©)

Epidermis
Guard cells
Palisade cells

(D)  Parenchyma cells

The event that does not takes place in 91
Artificial Kidney is-

(A) Filtration

(B) Maintaining osmotic pressure

(C) Reabsorption

(D) Removal of Nitrogenous wastes

The olfactory and gustatory receptors 92
humans are located in -
(A)
(B)
(©)
(D)

Eyes and Tongue respectively
Eyes and Nose respectively
Nose and Tongue respectively

Tongue and Nose respectively

The volume of air left after maximum 93.

forceful expiration in human lung is-

(A) Tidal volume

(B) Residual volume

(C) Vital capacity

None of these

(D)

qraT AT 8-
(A) 3ifdre
(B) TS PITAHT

(©)

@Y PIEHT

(D) =T RS
. Pyl ger em ef # FE e 22

(A)
(B)

(©) -

(D)

. Gu9 U@ Wk @ ford Ae ¥ ReAed w8t
WY W &7

(A)
(B)
(©)
(D)

HHI: A AR S H
HAY: A AR AP H
HHY: ATE AR A H o
HHY: O 3R A1 A

¢ @ W Feem 3 9w g @

AT BEHS H q97 Y& T 2 | e Fed

-
(A)

(B)
(©)

(D)

S
CCNLIRCIDGER
e
W P T
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94. The following figure illustrate the binary 94, ra R m R & @b R apfiar

fission in amoeba. Choose the correct option-

Rfrgues # aufar 87 € R @

S— i, s W -
IR L Y (=) (. )
| — = ==
(1 (i) (i) (iv) N B AR
(1) (i) (i1) (iv)
A) () () (v) (A) () () ) (iv)
B) G (i (i) (iv) B G () (i) (iv)
€ G Gv) @ (G (€C) - i)  (iv) () (i)
D Gv) G Gi) ) D) Gv) G Gi) ()
95. Thyroxine hormones is secreted by- 95. omRIRRGA B e 7 & grr el
g 87
(A) Thyroid glands (A) URRTES TRRY @ ER
(B} Pllmlﬂl’_\«' g]ands (B) m@mzﬁ e
(C) Testis (©) EF“I%W
(D) Adrenal glands Y
(D) ufgwe aRmi & grr
96. The rate of transpiration is measured by- 96. AT B X AW TR -
(A) Potometer (A) UreHex gN
(B) Photometer (B) '@Eﬁ’lﬁm
(C) Barometer (C) s g
(D) Lactometer (D) dwerier gr
[201] Page 30 of 32
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97. How many ATP molecules are produced in 97, TEEPCIENE @ G fc ATP Sropait

the process of glycolysis? #1 fsfor grar 22
(A) 8 A) 8
(B) 16 ® 16
(C) 36 © 3
(D) 38
(D) 38
98. The currency of energy of cells i - 98. FINE @) Fut P Y51 fHA HEd &7
(A) DNA (A) DNA _
(B) RNA (B) RNA
(C) ATP (CY“ATP
(D) Salts (D) Salts
99. The rate of photosynthesis is higher in- 99, Y&HIY WIATY dI X FaA AP el B
(A) Redlight (A) & wETE H
(B) Green light (B) & UHIY A
(C) Violet light (€) Frf yory §
(D) Blue light @ A e
100. Number of parents involved in asexual 100. 3®ifI® Yo+ A fFas T T o &2

reproduction is-

(A) &I H
(A) Many
(B) =
(B) Three
€ A
(C) Two
o O D) TP
IR 2T o oATQ TgT chel(h hS.....
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INSTRUCTIONS REGARDING
METHOD OF ANSWERING
QUESTIONS

(Please use Black ball-point Pen)
Method of Marking Answers:

To answer a question, please darken
one circle out of the given four, in the
OMR  Answer Sheet against that
question,

Valuation Procedure:

There are four alternative answers to a
question, only one of them is correct.
One mark will be awarded for each
correct answer. If more than one circle
are darkened for a question, it will be
presumed that the candidate does not
know the correct answer, hence no
mark shall be awarded.

Cancellation or Change in Answer:
It will not be possible to change the
marked circle with black ball-point
pen; therefore, correct answer should
be carefully chosen befor¢ marking it
on OMR Answer Sheet.

Handing over ¢f Answer Sheet to

Invigilator:

(1)  Please ensure that all entries in the
answer- sheet are filled up
properly i.e. Name, Roll No.,
Signatures, Questions Booklet
No. etc.

(11) CANDIDATES ARE PERMITTED
TO.CARRY AWAY THE
QUESTION BOOKLET WITH
THEM AFTER THE
EXAMINATION.

Care in Handling the Answer Sheet:

While using answer sheet adequate care

should be taken not'to tear or spoil due

to fold or wrinkles.
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gt & gae o g fde

(e et v e A 0 T )

SR 3 91 T ¢ .
IR 24 @ fog OMR SR-gRaar 4
W g @ A 4 R T R e
i A Fad T Ml B G Bl HHAT|

#9e e IX Fel & | YT Bl Fel ST
I T W U IS W BT | A U
J o T Frel fHY W € O a8 5
SR T odemeff BT ge &1 WEl ST
g AR & o SN IE 3 Tl e
ST |

TR B R HR1 91 a5

IR T W v v 3 Bl e
dict Ufgoe U9 § W T A $ e @
ST TG TR 81T | 3T ITR FT AT
W% qd FE IR BT GIA Aa
T @it |

STR-He diers 1 i

(1) dad F IwR-Ae A B e
gfAfad @ of & Itr—die & g
gl W9 gfehdt o - A, A
TR, ERIRR, T -Ra@T &1 TR
g fiRa o ® Se-aF W
T E |

(i) Wen Sw qdenRiA @
TE-IRAE AT W o T )
Il B |

STR-Me & SuAnT ¥ wraurh -
SR-Me &1 g2 7w @ v @
WA 9% | $9 Bed, §94 A Herae
TS § WE 7 2N ¥
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